XXXII PENYBTMKAHCKA CTYOEHTCKA OTMMNUALA MO NPOTrPAMUPAHE
AYEl, bnaroesrpaga, 09.05.2020

3agaua D. BYTUJIKU

B CbJ UMa W JUTpa Boaa. Pasznonarame ¢ N 6YTI/IJ'IKI/I C JaacHu BMCCTHMOCTH. Harmmmrere mporpama,
KOATO HaMHpa KOJKO Hall-MHOTO GYTI/IJIKI/I MOKC Oa HaIlbJIHUM HOOIrope, Taka 4€ CbABT Oa 6’bI[e
H3IpPa3sHCH U30AJIO0.

Bxoa. Ha mbppBus pe Ha cCTaHAApTHHS BXOJ € 3a/1a7ieH OposT Ha TecToBeTe. JJaHHUTE 32 BCEKH TECT ca
3a/1aJIecHH Ha JiBa peaa. Ha mbpBHs OT Te3u penose ca 3amaneHn BMectumoctta W Ha chaa u 6post N
Ha Oyrwikute. Ha ciensamms pen ca 3anucanu N-Te BMECTUMOCTH Ha OYTHIIKUTE B TUTPU. BB3MOKHO
€ JAa uMa OYTUIIKM C €JHAaKBa BMECTUMOCT. BCHUKM 4Ymciia BBB BXOJZla Ca LIETU W TOJIOKUTEITHU U
OTJIEJICHU €HO OT APYrO C UHTEPBAIH.

HM3xoa. 3a Bcekn TECTOB MPUMEp, CIOPEN peaa UM BbB BX0/a, MporpaMaTa TpsOBa J1a U3Bee Ha HOB
pell Ha CTAHASPTHUS U3X0J] ThPCEHUs MakcuMaseH Opoil. Korato He € Bb3MOKHO J1a Ob/1aT HAIIBJIHEHU
OyTHJIKHU CTIOpe]] YCIIOBHETO Ha 3aja4ara, mporpamaTa TpsiOBa aa uzsezae 4uciaoro 0.

Orpannuenusi: 0 <W < 100, 0 < N < 300, BMecTUMOCTTa Ha BCsAKA OT OYTUIIKUTE € mo-Manko ot 300
JTUTpA.
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There are W liters of water in a container. We have N bottles, each with a given capacity. Write a
program that finds how many bottles we can fill completely, so that the container will be completely
emptied.

Input. The first line of the standard input contains the number of test cases. The data for each test are
written on two lines. The first of these lines contains the capacity W of the container and the number N
of the bottles. The next line contains the N capacities of the bottles in liters. There may be bottles of
the same capacity. All numbers in the input are positive integers and are separated each other by
spaces.

Output. For each test case, according to their order in the input, the program must write on a new line
of the standard output the found maximal number of bottles. When it is not possible to fill the bottles
according to the task statement, the program must output the number 0.

Constraints: 0 < W < 100, 0 < N < 300, the capacity of each bottle is less than 300.



